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(2.28)

-71.67
(2.00)

-8.51
(-0.37)

-4.59
(0.79)
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Z2(Class)d gt

C/A 472 -876 -8.05 -12.12
(H|mX| == THH| 41t (0.66) (-0.62) (1.62) (1.79)
C/A-e -471 -874 -8.01 -12.07
(H|mX| == THH| 1t (0.67) (-0.60) (1.66) (1.84)
c/C -484 -8.99 -8.39 -12.56
(H|mX|== THH| 41t (0.54) (-0.85) (1.28) (1.35)
C/C-P2 -4.81 -8.94 -8.32 -12.47

(Bl K| %= CHH| Aah (0.57) (-0.80) (1.35) (1.44)
C/C-P2e -474 -8.80 -8.10 -12.18
(H|mX|== THH| 41t (0.64) (-0.66) (1.57) (1.73)
C/C-e -479 -8.90 -8.25 -12.38
(H|X| == CHH| 43t (0.59) (-0.76) (1.42) (1.53)
c/s -4.75 -8.83 -8.15 -12.25
(H|mX| == CHH| 43t (0.63) (-0.69) (1.52) (1.66)
H| W X|=(# K| OF3) -5.38 -8.14 -9.67 -13.91

F)H| D X| 5= X[ OF3): MKF Wealth Total X 100%
X 9| EXPANE 0pAH datE LEPH # 0jEjo| 2 8/HNtE BHSH= 22 OofEL|C)
L=

T == &l | = 2lEl =S == GlEl
QEMKFRAEEQIHAXIZA 28 -11.63 22.78 4836 27.22
(H|mX| == CHH| 43t (2.28) (5.85) (11.46) (13.71)

S5 (Class)d szt

C/A -12.12 2147 46.00 2381
(H| R X|== THH| 4t (1.79) (4.54) (9.10) (10.30)
C/A-e -12.07 2159 46.22 24.12
(H|mX|== CHH| 4t (1.84) (4.66) (9.32) (10.61)
c/C -12.56 20.28 4388 20.78
(H|mX|== THH| 4t (1.35) (335) (6.98) (7.27)
C/C-P2 -12.47 20.52 4431 21.39
(H|mX|== THH| 4t (1.44) (3.59) (7.41) (7.88)
C/C-P2e -12.18 2139 46.67 -
(H|mX|== THH| 4t (1.73) (4.46) (9.77) -
C/C-e -12.38 20.74 4472 2198
(H|mX|== THH| 4t (1.53) (3.81) (7.82) (847)
c/s -12.25 21.11 4537 2291
(H|mX|== THH| 4t (1.66) (4.18) (847) (9.40)
H| m X|4=(#X|0t3) -13.91 16.93 36.90 13.51

Z)H| K| 4=(#I K| OF2): MKF Wealth Total X 100%

FHOA BE Sof AASBHIN Y HA(PIIY) 2 JIZ0] thof WA BET} FFoHE Xhel WES YOit SUS| W2 ZHEXE B B + YSUC

(2] - %)
T& X2 3712 X2 6712 xZ 14
FEIMKFRAEEQIEAXFA] 28 1.08 146 278

F) FH A AH|Z Sot M AHE I 50

= o B2, HIR|+ 8 Ol T AYABCo| Azt 208
xfolo] EEWAE IMBLICE FHRA| K7t HS4F S 7|2t SO AYAHE}
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> o (Er9l: e 2l
TE Sk HecE TS SEAe = 7|E} &olsta
=4 M oS X | B g9 HERE [ 7IE o=
7| -89 0 0 -49 -5 0 0 0 0 0 -144
g7l -130 0 0 -23 -4 0 0 0 157
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